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il ‘the advantages of fertigation in |®
Briculture ?

rolling the alkalinity of irrigation
S possible.

it application of Rock Phosphate
other phosphatic fertilizers is

¢ availability of nutrients to
;p_ossible.

below :
(a) lonly —
(b) 2only
" (c) Both1and 2
(d) Neither 1 nor 2
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less oOr more
mean.

Select the correct answer using tk

At present, the retail prie
fertilizers 1S market-d riv
administered by the Gove;
Ammonia, Which is an in
Produceq frop, natural

hich ig

Phosphpie acid afra

Y-Product of ol refineries

ch of the ]
. tatements

Lonly

and 3 on]
2 only

) 2 and 3
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With reference to India’s Desert National

Park, which of the following statements are
correct, ?

e It is spread over two districts.

2. There is no human habitation inside the
Park.

3.

It is one of the natural habitats of Great

Indian Bustard.

Select the correct answer using the code given

below : :

%

(a) an‘ﬁ 2 only

8.

o the
(
of rend 3
ith T .
i (he (ollow! 4
qder v
consl 3
) ’.(,
Ifrrnmu" [
g adh
yhiled
1 B MMa
Dw u.nmnnmlm
2 .

3 Girinagal

wara
4 gthanesvar

1 : r' 51N
Which of the pairs g1ve

matched ?

] :”’](’ 3 “n].y

(a)

(p) 1and 4 only
o(c) 2and3only

(d) 2and4only

Consider the following statements &

“overexploited”

Central

or “eriti al”
Ground Water

(CGWA).
2. CGWA was  formed
Environment (Protection) A
3 India hag
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» t SpeCles 1
the 11 1 ar plan s
Wm@mng statements : 11, If a parmcul + T wildlife
h:{ L S hedul VI Of hcation
'y E c , impP
occur in the Northern 1972 what 18 h ired 14
eq
Jicence
-(a) A
_ plaﬂt
not be culti
 cyclones develop an eye. Such a plant ca%
| (b) tances.
ny circums

(cp Itisa Genetically Modified croy
c

one is nearly 10°C lesser than that | (d) Sucha plant 1

s invasive and h

the ecosystem-

tatements given above is/are ' With reference to the period of Gu
| in ancient India, the towns |

" Kadura and Chaul were well known
',(a) ports handling foreign trade
‘(b) capitals of powerful kingdo .r

(¢) places of exquisite stone

architecture

~ (d) important Buddhist pilgri

13. What is/are the advantage/advan
~ zero tillage in agriculture ?

Sowing of wheat is pos
burning the residue of previous
Without the need for ny
3 §ap11ngs, direct planting of pa

In the wet soil ig possible.

iger Reserves, which |

under “Critical Tiger |

Cal‘bon S »
€questratij .
Possible. : HOTL I

‘H 1 and 2 0nly

2 and 3 only
3 only

1,2and3
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According to

Biofuels India’s National Policy on

i » Which of the following can be used ag
Materials for the production of biofuels ?

1. Cassavy

2 Dlamaged wheat grains
8. Groundnut seeds
4. Horse gram

5. Rotten Potatoes

6. Sugar beet

Select the correct answer using the code given

below :

@ 1,2,5and 6 only
WO T only

(©  2,3,4and5 only

(d)

1,2,3,4,5and 6

Which one of the following statements best
describes the term ‘Social Cost of Carbon’ ?

, in monetary value, of the

- damage done by a tonne of
ons in a given year.

Q;Tt of fossil fuels for a country
iide goods and services to its
ed on the burning of those

a new place.

tprint on the planet

1 by a climate refugee to |

of an individual person to |

16. with ;(fr‘rt‘“;(’)‘” wing statements
consider the _ o cultil
1. Blac:kfg -abi Crop
g Lr..“ alone gccount,g
2. G”‘anil;]se productlon. |
haHOx last three dec.ades;,:
1 rrl‘octl;llj(t:rtion of cll{hjltli.:)fn og
ipncrease _ the produ :
has decreaset: : 4
Which of the statements given above
correct 7
o(a) 1only
" (p) 2and3 only
() 2only
(d 1,2and3

17. “The crop is subtropical in nat.um ‘
frost is injurious to it. It require
910 frost-free days and 50 to 100 ¢
of rainfall for its growth. A light wi
soil capable of retaining moisture
suited for the cultivation of the crop
one of the following is that crop ? y

v (@) Cotton

(b) Jute

(€©) Sugarcane
" (d) Tea

18. With reference

to s
e following v olar water

pumps, col
atementg :

i Sol
% sur?;cé) (;)Wer can be used for
um
pumps. PS and not for
¢ Sgrlli:ifpower can be uged fo
uga]
piston, . PUIPS and not the
'W hich of ¢, :
“correct?  Statementg given abovi
(@ 1 only
g (b) 2 only
8 Both 1 ., 5
@
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. WIth ref o f ) ey
cu1tivatioerence to the current trendH in the 21. W"h l»(-f{‘[‘rll(f:’("lI(‘)w’ir)% p;“r,“/
followin Aok SUgarcane in India, consider the consider the | . Rentl
g Btatementg ’ 1 [;;”-i\/]':l_];]k" wa ()
1 . ) ;
nAls:bBtantm] saving in geed material ig / - Priest
ra? e .when ‘bud chip settlings’ are 9. ghraman? high
1sed in g nursery and transplanted in Lay fol
the main field gaka E ‘
9 Wh i 8, Upasd® Buddh
: by en direct planting of setts is done, . iven above
.e B"BI'mination percentage is better Which of the pairs BIVE .
with s:flgle-budded setts as compared to matched 7
setts with many buds. (a) 1 and 2 only
, 3 only
3. If bad Wweather conditions prevail when P ‘“Nj 3 (;:lv
. ) ¢ a0 J
setts are directly planted, single-budded jo) 2 an¢ 13
‘) ¢ a o
Setts have better survival as compared (d 1,2an
to large setts. 22. With reference L0 Indian elephants, eg
4. Sugarcane can be cultivated using the following statements :
settlings prepared from tissue culture. 1. The leader of an elephant g
Which of the statements given above is/are e . e .
correct ? 2, The maximum gestation pe
(@) 22 months.
& ' agd prnly 3.  An elephant can normally go on'e
(b) 3 only till the age of 40 years only. 2
(0 1and4only 4, Among the States in India, i
‘ elephant population is in Kerala
e(d) 2,3and4only Which of the statements given abowve
correct ?
I In th ) . : (@ 1and2only
e context of India, which of the following 3
is/are considered to be practice(s) of (b) 2 and 4 only
eco-friendly agriculture ? () 3 only
y . : (d 1,3and4 only
1.  Crop diversification
2.  Legume intensification 23. Which of the following Protected A
. ‘. located 1n Cau\,ery baSin 9 .
3.  Tensiometer use T N o
£ . k Pagfirhole Nationa] Park
4. Vertical farming -3- SaDIkOnda National Park
Select the correct answer using the code given o athyamanga]ay, Tiger Reserve
below : 4 Wayanad wijq)ig, |
g Select the correct . -
(a) 1,2and3only below : ~Answer using the co
(b) 3only (@ 1and2 oy,
| ‘ 4 3 y s
(¢) 4only and 4 on]y,
i A 1.3and40nly
!‘(‘ﬂ) 1;‘ 29 > an (d) 1, 2, 3 and 4
“P-JHKI (11-C)
‘;1‘ -=-h- N .
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With iodi
reference to India’s biodiversity,

Cerlil frogmouth, Coppersmith  barbet,

Gray-chinned minjyet and White-throated
redstart are

«(a) Birds
(b) Primates
(c) Reptiles
(d)  Amphibians

Which one of the following protected areas is
well-known for the conservation of a
of thé Indian
(Barasingha) that thrives well on hard ground

and is exclusively graminivorous ?

sub-species swamp deer

(a) Kanha National Park

(b) Manas National Park

(c) MudumalaJ Wildlife Sanctuary
(d) Tal Chhapar Wildlife Sanctuary

Steel slag@.an be the material for which of the

27.

28.

& (@
@

In rural r

3.  Geotextiles

. (@ 1,2and3 only
o(b) 2,3and4¢ only
4 and 5 only

otrl g
9 Gang il Jlife Sanctuary B

g KishatP

3 Nati()nal ;
nswer using the ¢

. Park
4, Mand

C
SeleCt the Corre

below :

(a) 1and 2 only

(b)
(¢) 3and4 only

9 and 3 only

(d) 1 and 4 only

oad construction, the use o

the following 1S preferred for

environmental sustainability or to rec

carbon footprint ?
1. Copper slag

9.  Cold mix asphalt technology

4. Hot mix asphalt technology

5. Portland cement

Select the correct answer using the v oae
below : :

1 and 5 Only



|

30. What is the use of biochar in farming ?
! 18 Biochar can be used as a pzirt of the
1 growmg medium in vertical farming.
\! 2. When iochar is a part of the growing
. promotes the growth of |
| ng microorganisms.
1s a part of the growing
the growing medium
onger time.
nts given above is/are
*(d)
GY-P-JHKI

go. Consider the following statements :

18 Coal
ash contajng arsenic, lead and
mercury,
2. Coal
di(?al‘ fired Power plants release sulphur
oxide and oxjdes of nitrogen into the
environment,
3. High ash content js observed in Indian
coal.
Which of the statements given above is/are
correct ?
(a) 1only
«(b) 2 and 3 only
(c) 3only
(d 1,2and3

31.

- 3ﬁ The higher g borrowing

(@ 1,3 4and5only

2. Ithelpsin evaluating the em

) ich . inve
In India ¥ public
consider®
0 i
. lgure - ort F
agricul _ jpimu™ SuPI;I .
il Fix'ngltuwl produce ofig -
agricu ) Of :
rization Leti
2. Con_lpllllttiral Credit Societies S8
Agrict

Social Capite! development
0ClLE

3.
4 Free electricity supply to farm :,;
. Waiver of agricultural loans - by
aive |
panking system
6 Setting UP of cold storage fa
. e ..
the governments

Select the correct answer using the .

below :
(a) i1, 2 and 5 only

(¢ 2,3and6only
od 1,2,3,4,5and6

1. It helps in understanding t

risk of a firm that a bank ,A
give loan to. I

of a firm that a hank is g
loan to. '

ok Inife.rest Coverage Ratio, the we
~ ability to service jtg debt

1 and 2 only
2 only
1land 3 only
1,2 anq 3
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. Which of
33 the fOllowmg factors/policies were

affectin
g the Price of rice in India in the
recent past ?

1. Minimum Support Price
9. Government’s trading

3.  Government’s stoékpiling
4. Consumer subsidies

Select the correct answer using the code given
below :

(a)
(b)

1,2 and 4 only
1,3 and 4 only
(¢) 2 and 3 only

*(d 1,2,3and4

Consider the following statements :

1.  The value of Indo-Sri Lanka trade has
consistently increased in the last
decade.

23 «Textile and textile articles” constitute
an 1mportant item of trade between
Ind;lanam.d Bangladesh

35 In the last five years, Nepal has been
s tradmg partner of India in

statements given above is/are
correct ?
(a)
(b)
(c)
(d)

3Y-P-JHKI

| 36.

. for whic

(a)
_ \ft (b)

following STOUps o

the 3
In which O g mbers of G20 2
the four coU” rié
exiCo, South
(a) Argentirlﬂ,
TurkeY :
da, Malaysia
(b) Australi? Cana i
New Zealand
(c) Brazil, [ran, Saudi Arabia and
(d) Indonesia, Japan Singapore and |
Korea
i it Card
Under the Kisan Credit '

short-term credit support is given 2
h of the following purposes : 758

1. Working capital for maintenar

farm assets

2. Purchase. of combine °

tractors and mini trucks

3. Consumption
households

requirements of

4. Post-harvest expenses

Select the correct answer using thell ,
below : p

1’ 2 and 5 iny
1) 3 and 4 Only

23,4 and 5 only

1,2,3,4and5
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3. Consider the following statements :

1. Th.e weightage of food in Consumer
Price Index (CPI) is higher than that in
Wholesale Price Index (WPI).

2. The WPI does not capture changes in
the prices of services, which CPI does.

3. Reserve Bank of India has now adopted
WPI as its key measure of inflation and

to decide on changing the key policy
rates.

Which of the statements given above is/are

correct ?

+ (@) 1and2only
(b) 2 only
(c) 3only

1,2 and 3

38. Consider the following pairs :

River Flows into
1. Mekong — Andaman Sea
9. Thames _ Irish Sea
3. Volgawl ; = Caspian Sea
- —  Indian Ocean

5 givén above is/are correctly

40'

- Which of the statementsg given a

1 and 3 only

, followi"€ st
Considert :
i In the
oil—seed (
Supp? ndia
State f
2 In the ca -
; . 1
MSP: lxh market price
to W 1C
rise. 3 1
Which of the statements give 0
i
correct ?
(@ 1only
(b) 2only
(¢ Bothl and 2
e(d) Neither 1107 2
With reference to the Indian

consider the following statements :

1.  ‘Commercial Paper’ is a short-t

of India to a corporation.

3. ‘Call Money’ is a short-term fin
used for interbank transactions.

4.  “Zero-Coupon Bonds’ are the in
bearing short-term bonds iss ;f
Scheduled Commercial al
corporations.

correct ?
(@ 1land2only
(b) 4only
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4l n Tncia e Foreign Direct Investment
considcrS ~ %ne of the following is
. major characteristic ?
(a 15 3
0 inst:u the Investment through capital
ments €ssentially in a listed
company,
(b) It i
1S a largely non-debt creating capital
flow,

(¢ It is the Investment which involves
debt-servicing.

(d) _It is tl}e investment made by foreign
institutional investors in  the
Government securities.

42. With reference to the international trade of

India at present, which of the following
statements is/are correct ?

1. India’s merchandise exports are less
than its merchandise imports.

2z India’s imports of iron and steel,

chemicals, fertilisers and machinery
have decreased in recent years.

3.  India’s exports of services are more than
its imports of services.

4, India suffers from an overall

l trade/current account deficit.

i Select the correct answer using the code given

below :
} (a) land2 only
() 2and4only
«(c) 39n1§' g,
(d 1,3and4only
3. The term fﬁgest | Texa:" Itntermecciliatef;",
sometimes found in News, refers to a grade o
it ‘VI‘L“,'._- £ T{ {a
* (a) Crude-oﬂ'- i
(b)  Bullion
(c) Rare ear!
f ()
GY-P-JHKI

(21-C)

0 [. the Indian :

»xt .
44, In the contLZODt mcludes whi
non-ﬁnancial
following ’ e owed by households
1. Housing 0 <tanding 0B credit
= Ou > 5
2 Amounts .
' ills o
3, Treasury bé - using the caig
Select the corTe
below :
(@) 1only
(b) 1andZ2only
e(c) 3only
@ 1,2and3
45} In India, why ar€ some mfdealj o
under “IAEA Safeguards” while othe
not ?
Some use uranium and others
' thorium _
(b) Some use imported. uranium and
use domestic supplies
e () Some are operated by :
enterprises and others are operate
domestic enterprises
(d) Some are State-owned and others

privately-owned

46. With reference to Trade-Related Iny
Measures (TRIMS), which of the
statements is/are correct ?

1e Quantitative restrictions on i
foreign investorg are prohibited.”

2. They apply to

related tq trade
services.

investment
in both

-3. They are not

) concernec
regulation of forei e

8N investment.

Select the correct answer using the code

below :

(@ 1land2on)y
e(b) 2only

(¢ land3 only

(d 1,2andj
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47, If the RB] decideg to a

monetar i :
Y policy, Which of the following would

it not do ?
il Cut "
e -and‘ Optimize the Statutory

2. Increase thé

Mar. inal Standi ili
Rate ‘ g1 anding Facility

3. Cut the Bank Rate and Repo Rate

Select the correct answer using the code given

below :

«(@)  1and 2 only
(b) 2 only
(¢ 1land3only
(d 1,2and3

48. With reference to the Indian economy after
the 1991 economic liberalization, consider the
following statements :

1l Worker productivity (¥ per worker at
2004 - 05 pricgs) increased in urban
areas while it decreased in rural areas.

2. The :ft)fe;igentage share of rural areas in
the workforce steadily increased.

3. Im rg!m!la{areas, the growth in non-farm
jomy increased.

49. (Qonsider the follow ing * 3
of short-term cre-
i 2 term‘s lture sector, Distri
the agr IC-L‘I, : o o
Cooperat:ilit in comparison to Sg
;n:;emc(::cial Banks and Region; 1
nks |
2 Eie of the most imp.ortant fanel
| DCCBs is to provide ffmds
Primary Agricultural Credit Soc
Which of the statements given abo‘;‘g: -
correct ?
(@ 1only
#(b) 2 only
(¢ Both1and2
(d) Neither 1 nor 92
50. In India, under cyber insuraiil

1. Cost of restoration of the nl'%i'*rf

access to one’s computer

2. Cost of a new computer if some miser
wilfully damageg it, if proved so

3. C(?st. of hiring a specialized consult
minimize the ggg in case
extortion

4.

- Cost of defence in the Court of
third party files g suit i
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With refi
ef‘ence to carbop nanotubes, consider
the followmg Statements -

1. The
Y can be used as carriers of drugs

and antigeng jp the human body.

P '
They can pe made into artificial blood

capillaries for ap injured part of human

body.

3. They can be wused in biochemical
sensors,

4,

Carbon nanotubes are biodegradable.

Which of the statements given .above are
correct ? :

(@) 1and 2 only
(b) 2,3 and 4 only
(c) NS and 4 only

»(d) 1,2,8and 4

Consider the following activities :

1 : Y ;-resticides on a crop field

~craters of active

54.

(a) 1only
~(b) 2and3only
() 2only
«d) 1,2and3
What is the importance of ‘L

55.

Al These vaccines are effective

: Selm the correct answer yg

il

. t ) g
“The experlmeﬂ' formatlon in th

g iD
spacecraft fly 1I1gt angle that has
118 . 3
ilaterd with lasers
an' fequ o etreS long, .
million kilon » The exp

ralt-
between the ¢

question refers g

() Voyager-?

(b) New Horizons

(@) LISA Pathfinde”

(d Evolved LISA

Consider the following statemenfs .

1. Genetic change® can be introdu

the cells that produce eggs OT Sper

] nt. i
a prospective pare .o
P e can be edited be

2. A person’s genom ,
pryonic stag

birth at the early em :
3. Human induced pluripotent stem
can be injected into the embryo of a g

Which of the statements given above s
correct ?

Pneumococcal Conjugate Vaccines in Ind

pneumonia as well as menin

sepsis.
% Deper.ldence on antibiotics that a
effective against drug-resista tb
W - can be reduceq. Y

- These vaccineg have no side e
- cause no allergic reactions
ing the code
1 only

1 and 2 only
3 only

: v1,2and3

3
4
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. In India, the term “pyp);, Key Infrastructure”
is used in the context of

(a) Digital security infrastructure

Food security infrastructure

e(c) Health care apgq
infrastructure

education

(d)  Telecommunication and transportation
infrastructure

57. Which of the fﬂﬁomng statements are correct
regarding the general difference between
plant and animal cells ? '

1. Plant: c’e]!s have cellulose cell walls
whilst animal cells do not.

2 Plan\t‘- cells do not have plasma
e unlike animal cells which do.

58,  Which of the following are the re
for exposure to benzene pollution

1.  Automobile exhaust

2. Tobacco smoke

3.  Wood burning

4.  Using varnished wooden fur

5.  Using products made of poly

Select the correct answer using th
below :

(a) 1,2and3only
(b) 2 and 4 only
(é) 1, 3 and 4 only
“d) 1,2,34and5

59. If another global financial crisis
" the near fature, which of th

actions/policies are most likely tc

immunity to India ?
1. Not depending on shor@e
~ borrowings :

Opening up to more fo " b

bei‘éw
(.9? ~lonly

) 2

AT d Deposit Accountl

Scanne with CamScanner



6l. With reference to the cultural history of India,
which one of the following is the correct
description of the term ‘paramitas’ ?

(@  The earliest Dharmashastra

written in aphoristic (sutra) style

texts

(b)  Philosophical schools that did not accept
the authority of Vedas
@ Forfections whose attainment led to the
Bodhisattva path
(d)  Powerful merchant guilds of early.
medieval South India
) 65.

62. In the context of Indian history,

Rakhmabai case of 1884 revolved around

the

1. women’s right to gain education

2 age of consent
3.  restitution of conjugal rights

Select the correct answer using the code given

below :
(a) 1 and@only e
(b) 2 and 3 only

(¢) 1and3only

(d) 1,2and3

Indlgo cultmatwn in India declined by the

e (d)

64. Wellesley established the Fort William

College at Calcutta because

(a) he was asked by the Board of Directors
at London to do so
(b) he wanted to revive interest in oriental

learning in India

(¢) he wanted to provide William Carey and
his associates with employment

he wanted to train British civilians for
administrative purpose in India

With reference to the history of India,
“Ulgulan” or the Great Tumult is the
description of which of the following events ?

The Revolt of 1857
“The Mappila Rebellion of 1921
(¢) The Indigo Revolt of 1859 — 60
Birsa Munda’s Revolt of 1% — 1900

With reference to the scholars/
India,
stafements’ z

ancient consider

1. Panini is associated wi
Shunga.

- Amarasimha is

~ Harshavardhana.

- Kalidasa is associated
- Gupta-1IL
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§7.

68.

In the context of recent advances in human

reproductive technology, “Pronuclear
Transfer” is used for

(a)  fertilization of egg in vitro by the donor

sperm

(b genetic modification of sperm producing
cells

() development of stem cells into
functional embryos

o (d)

prevention of mitochondrial diseases in
offspring

With the present state of development,
Artificial Intelligence can effectively do which
of the following ? '

1.  Bring down electricity consumption in
indﬁstrial units

2.  Create meaningful short stories and
songs

3.  Disease diagnosis

4, Text-mnﬁpeech Conversion

5. V - transmission of electrical

swer using the code given

70.

With  reference  to  Visible Light

Communication (VLC) technology: which of

the following statements are correct %

1. VLC uses electromagnetic spectrum
wavelengths 375 to 780 nm.

9. VLC is known as longrange optical
wireless communication.

3.  VLC can transmit large amounts of data
faster than Bluetooth.

4, VLC has no electromagnetic
interference.

Select the correct answer using the code given

below :

(@ 1,2and3only

(b) 1,2and4only

(¢) 1,3 and4only

o(d) 2, 3and4only
Wifh reference to “Blockcha 7 echnology”,

consider the following statements :

- 1. It is a public ledger
~ inspect, but which

controls.

2.  The structure and de
is such that all the data i
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ith
Wlt. reference ¢, the history of India,
consider the following pairs :

—_—

1. Aurang

In-charge of

of the State

treasury

2. Banian

—

Indian agent of the East
India Company

3. Mirasidar — Designated revenue

payer to the State

Which of the pairs given above is/are correctly
matched ?

(a) 1and 2 only
(b) 2 and 3 only
(c) 3only

(d 1,2and3

2. With reference to the religious history of

India, consider the following statements :

18 Sthaviravadins: belong to Mahayana
Buddhism.

9.  Lokottaravadin sect was an offshoot of
Mahasanghika sect of Buddhism.

3.  The deification of Buddha by
Mahasanghikas fostered the Mahayana
Buddhism.

Which of the statements given above is/are

correct ?

7(a) 1and2only

(b) 2 and 3 only

(¢c) 3only

(d) 1,2and3

H6Y-P_yHKI

(

73.

Which of the following statemen '
explains the impact of Industrial Revolution

on India during the

ts correctly

first half of the

nineteenth century ?

s (a)

(b)

(c)

(d)

74.

1,
2.

4.

(a)
(b)
(c)
e (d)

Indian handicrafts were ruined.

Machines were introduced in the Indian
textile industry in large numbers.
Railway lines were laid in many parts of
the country.

Heavy duties were imposed on the
imports of British manufactures.

Consider the following events in the history of
India :

Rise of Pratiharas under King Bhoja

Establishment of Pallava power under
Mahendravarman — I

Establishment
Parantaka — I

of Chola power by

Pala dynasty founded by Gopala

What is the correct chronological order of the
above events, starting from the earliest time ?

2-1-4-3

3-1-4-2
2-4-1-3
3-4-1-2

75.) Which of the following phrases defines the
nature of the ‘Hundi’ generally referred to in

(a)

(b)

(d)

(33-C)

@

the sources of the post-Harsha period ?

An advisory issued by the king to his
subordinates

A diary to be maintained for daily
accounts

A bill of exchange

An order from the feudal lord to his
subordinates

——— ——
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written by § “Desher Katha”
¥ Sakharam Ganesh Deuskar during

the f
reedom Struggle, congider the following
statements :

. With reference to the book

1. ;
t warned against the Colonial State’s

hypnotic conquest of the mind.

It inspired the performance of swadeshi
street plays and folk songs,

3. ‘desh’
The .use of ‘desh’ by Deuskar was in the
specific context of the region of Bengal.

Which of the statements given above are
correct ?

©(a)  1and 2 only
(b) 2 and 3 only
(¢)  1and 3 only
(d 1,2 and3

7. The Gandhi-lrwin Pact included which of the
following ?

1. Invitation to Congress to participate in
tha Round Table Conference

2. Withdrawal of Ordinances promulgated
in  conmection with the Civil
Dis ce Movement

3. Gandhiji’s suggestion for

0 police excesses
4 of only those prisoners who
-ged with violence

Select tHe swer using the code given

below :

(a)

s (p) °
(c)
(d)
HGY-p_yHKI

78. The Vital-Vidhvansak, the first monthly §
journal to have the untouchable people as its
target audience was published by

«(a) Gopal Baba Walangkar
(b)  Jyotiba Phule
(c) Mohandas Karamchand Gandhi
(d) Bhimrao Ramji Ambedkar

79. With reference to the history of India, the

terms “kulyavapa” and “dronavapa” denote

(a) measurement of land

(b)  coins of different monetary value

(¢) classification of urban iand ' "
®(d) religious rituals r

80.

“Whosoever praises his
blames other sects out of exce

own sect, he rather injures t ' O
severely.”

- (a) - Ashoka

(b) ."mié@’amudragupta
P
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arli ;
: amentayy System of Government is

one in which

(a)

all Political parties in the Parliament
are represented in the Government

¢ (b) the Government g responsible to the
Parliament and can be removed by it

(c) the Government ig elected by the people
and can be removed by them

(d)  the Government 18 chosen by the
Parliament but cannot he removed by it
before completion of a fixed term

2. Which part of the Constitution of India
declares the ideal of Welfare State ?
“(a) Directive Principles of State Policy

(b)  Fundamental Rights

(¢)  Preamble

(d)  Seventh Schedule

8. Consider the following statements :

1. The Constitution of India defines its
‘basic structure’ in terms of federalism,
secularism, fundamental rights and
democracy.

2. The Constitution of India provides for
judicial review’ to safeguard the
citizens’ liberties and to preserve the
ideals on which the Constitution is
based.

Which of the statements given above is/are

correct ?

(a) 1only

. @ 2 only
() Both1and2
(d) Neither 1 nor 2
H6Y-p_ Ky

84.

1
One common agreement between G

andhism

and Marxism i8

o (a)
(b)
(c)

(d)

85.

the final goal of a stateless society
class struggle
abolition of private property

economic determinism

In the context of India, which one of the

following is the characteristic appropriate for

bureaucracy ?

(a)

(b)

(c)

e (d)

An agency for widening the scope of

parliamentary democracy

agency for

An strengthening
structure of federalism

the

An agency for facilitating political
stability and economic growth

An agency for the implementation of
public policy

86. The Preamble to the Constitution of India is

(a)

(b)

@ (c)

(d)

(37-C)

a part of the Constitution but has no
legal effect

not a part of the -Constitution and has
no legal effect either

a part of the Constitution and has the
same legal effect as any other part

a part of the Constitution but has no
legal effect independently of other parts
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7. “Gold Trancﬁef’ (Reserve Tranche) refers to
(a) aloan System of the World Bank
(b)  one of the operations of a Central Bank
() a credit System granted by WTO to its
members
o (d)

a credit system granted by IMF to its
members

88. With reference to the provisions contained in
Part IV of the Constitution of India, which of
the ~foﬂa{v1ng:‘i i

.‘Zk “ .

rey shall be enforceable by courts.

statements is/are correct ?

. 5T
89. Consider the following statements -
1.  According to the Constitution of India, a
person who is eligible to yote can be ¢
made a minister in a State for six
months even if he/she is not a member 1

of the Legislature of that State.

According to the Representation ‘of
People Act, 1951, a person convicted of a

criminal offence and sentenced to
imprisonment for five years is
permanently disqualified from

contesting an election even after his

release from prison.

Which of the statements given above is/are

correct ?
(a) 1only
(b) 2 only
»(c) Both1and2

(d) Neither 1 nor 2

90. Consider the following statements :

1. The President of India can summon a
session of the Parliament at such place
as he/she thinks fit, '

2. The Constitution of India p

three sessions of the Pa
- year, but it is not mandat
~ all three sessions,

L
s

. There is no minimum ,f"‘
fﬁ ‘that the Parliament is req;

in a year. T

«(d)
HGY.p_ Kl
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4 Consider the following statements :

. Aa
| 1 adhaar metadata cannot be stored for

| more than three months.

State cannot enter into any contract

with private corporations for sharing of
Aadhaar data.

3.  Aadhaar is mandatory for obtaining

insurance products.

4. Aadhaar is mandatory for getting
benefits funded out of the Consolidated

Fund of India.

Which of the statements given above is/are

correct ‘?
/ﬂa) 1 and 4 only
+(b)  2and4only
() 3?mnly

93.  With reference to the funds under Members o
Parliament Local Area Development Scheme:
(MPLADS), which of the following statements
are correct ?

1. MPLADS funds must be used t0 cre.ate '.
durable assets like physical

infrastructure for health, education, etc.
A specified portion of each MP’s fund
must benefit SC/ST populations.

3. MPLADS funds are sanctioned on
yearly basis and the unused funds E
cannot be carried forward to the next
year.

4. The district authority must inspect at
least 10% of all works under
implementation every year.

Select the correct answer using the code given

below :

(a) 1and 2 only

(b) 3 and 4 only

(¢) 1,2and 3 only
#¢( 1,2 and 4 only

94,

Wh.u:h one of the following étegones of
Fundamental Rights mcorpora% protection
against untouchability as a form of
discrimination ?

(a) nght against Exploitatio '
(b) J?;ght to Freedom

! , separation of “. ici
/e 1s enjoined by
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alsol- places other documents before the
Par 1amf3nt which  incluge ‘The Macro
Economie Framework Statement’. The

resai i
'afo esaid document 18 presented because this
is mandated by

(a)  Long standing parliamentary
convention

(b)  Article 1192 and Article 110(1) of the
Constitution of India

(c)  Article 1183 of the Constitution of India

(d)

Provisions of the Fiscal Responsibility
and Budget Management Act, 2003

15

4.

100.

A consﬁmtional government by definition is a
(a)  government by legislature
(b)  popular government
(c) ulti-party government
(d) ‘government
e Fundamental Rights, which of
the foll parts of the Constitution of
India the principles and
i - Universal Declaration of
les of State Policy
using the code given
HGY-P

99. In India, Legal Services Authorit

free legal services to which of the

type of citizens ?

.Select the correct answer using the code given

below :

(a) 1and 2 only
(b) 3 and 4 only
(¢) 2and 3 only
(d 1land4 only

Consider the following pairs :

International Subject

agreement / set-up

Alma-Ata — Healthcare of

Declaration the people

Hague — Biological and

Convention chemical

2 weapons

Talanoa —  Global climate
- Dialogue change

Under2 Coalition —  Child rights

ieS pl‘OVide b

following

. f less
Person with an annual income ©

than = 1,00,000
Transgender with an annual inco™e OfA

less than T 2,00,000

Member of Other Backward Classes
(OBC) with an annual income of less
than ¥ 3,00,000

All Senior Citizens

he pairs given above 1sl§rem0rrec §
n ) ] V

-
b T

[
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